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*XVWLYD<HOYLDQL�������³'DPSDN�VRVLDO�IHQRPHQD�%XWFKL�WHUKDGDS�PDV\DUDNDW�
NHFDPDWDQ�.RWR�7DQJDK .RWD�3DGDQJ´

)HQRPHQD� OHVELDQ� NLDQ� PDUDN� VHLULQJ� ZDNWX�� KDO� LQL� GLEXNWLNDQ� GHQJDQ�
GHQJDQ� VXUDW� NDEDU� VHFDUD� ZDNWX� \DQJ� EHUGHNDWDQ�� \DQJ� PHPEDKDV� PDVDODK� ±
PDVDODK� WHUVHEXW� GDODP� EHEHUDSD� ZDNWX� \DQJ� EHUGHNDWDQ� VHFDUD� WHUXV� PHQHUXV��
$UWLNHO� LQL� EHUWXMXDQ� XQWXN�PHQMHODVNDQ� IHQRPHQD� EXWFKL� GDQ� GDPSDNQ\D� WHUKDGDS�
NHKLGXSDQ� PDV\DUDNDW� NHFDPDWDQ� � .RWR� 7DQJDK� .RWD� 3DGDQJ�� 3HQHOLWLDQ� LQL�
PHQJJXQDNDQ� SHQGHNDWDQ� NXDOLWDWLI� GHQJDQ� LQIRUPDQ� �� RUDQJ� EXWFKL� \DQJ� GLSLOLK�
VHFDUD� SXUSRVLYH�� 'DWD� SHQHOLWLDQ� GLNXPSXONDQ� GHQJDQ� REVHUYDVL�� ZDZDQFDUD� GDQ�
VWXGL�DQDOLVLV�GDWD�PHQJJXQNDQ�ODQJNDK�ODQJNDK�SHQJHORODKDQ�GDWD�NXDOLWDWLI��

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� DGD� �� IDNWRU� SHQ\HEDE� GLDQWDUDQ\D�
IDNWRU� JHQHWLN�� IDNWRU� SDWDK� KDWL�� NXUDQJQ\D� SHUKDWLDQ� NHOXDUJD� DWDX� EURNHQ� KRPH�
SHQJDUXK� OLQJNXQJDQ�� GDQ� SHQJDUXK� PHGLD� VRVLDO� 6HGDQJNDQ� GDPSDN� VRVLDO�
IHQRPHQD� EXWFKL� GLDQWDUDQ\D� VHSHUWL� GLNXFLONDQ� GDQ� GLKLQD�� 6HODLQ� LWX� PDV\DUDNDW�
MXJD�PHUDVD�WHUJDQJJX�NDUHQD�GLGDHUDKQ\D�WLGDN�ODJL�PHQMDODQNDQ�QLODL�DWXUDQ�QRUPD�
GDQ� DJDPD�� $GDQ\D� NHWDNXWDQ� IHQRPHQD� EXWFKL� DNDQ� PHPSHQJDUXKL� JHQHUDVL�
SHQHUXV�

0HQ\LNDSL� KDO� WHUVHEXW� XSD\D� \DQJ� WHODK� GLODNXNDQ� SHPHULQWDK� EHVHUWD�
PDV\DUDNDW�DGDODK�PHUD]LD��PHQMDULQJ��PHQDQJNDS�GDQ�PHPELQD��'DSDW�GLVLPSXONDQ�
EDKZDVDQ\D�GDPSDN�VRVLDO�IHQRPHQD�EXWFKL�VDQJDW�EXUXN�WHUKDGDS�SHODNX��NHOXDUJD�
PDXSXQ�PDVD\UDNDW�

.DWD�NXQFL��/HVELDQ��'DPSDN�6RVLDO��)HQRPHQD�%XWFKL


